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Exercise 1

a.) What are the most common phrases?

greltes fpr oy ~ ar
=T qUTYa (/ T )

rather seldom:

AT Tt 7 ar @y

b.) Fill the gaps

golior Thar IO U™ T &, Rt / dr it 3% ST oogs =&t ormar)
g Tl I UeW &7 g, qUTy / Tt 3T QT T =gt 3T |
T T IAT U PT &, vt T / 1 ot 3§ T fooms AT o)

¢.) Reverse the phrase order of the above mentioned sentence.

T 1 R fooge =&t orrdl, ol a8 0T oW &7 & |
T &1 BT foowe =&t &1dl, Jaiy 9g I vew 3T & |

Exercise 2

Make one single sentence of the following pairs by using one of the above mentioned
concessive conjunctions. Translate the new sentences.

2) ETBIIP dg T @1 ol ¢ [ 31 / a1 ¥ 3§ @& 37T @I 8|
T 98 @A @ JgebT ¢ qamy / TRt 3§ y@ &7 @1 ¢
ST aF ©TAT @ 9T & RECOS / df ff 3% ya &7 @ )
I Yo &7 ET & geiie / oaiu ag @FT O I9T &

Transl.: Although he has already eaten (nevertheless) he is still hungry.
He is still hungry even though he has already eaten.

b) g1 a8 dgd WAT & TpL T / a1 3l 3§ S ¥t omusg =@l |
TIf 9 §ga ¥l ¢ agria / Tl 3@ s Ot umee =8
AT 9 Jgd o1 g oA T / af Wt I8 SO ot umug =81
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I U v AET gl / uaf ag sgd v

Transl.: Although he is very rich, he is not at all proud.
He is not at all proud even though he is very rich.

¢) AT STEUT ST Yedep Mo &1 YabTiva gg aury / T it ag gebrere
T ®gE &l g
TSI STEUT HT JEa® e &1 YopTivd gg et it / ar oY ag uoprve
¥ HgE T T
VT YT § BJE E( & TIU / gTSIP IuPT Jead W &v
CEdINGIE]

Transl.: Although Arun’s book was published very quickly, he is not satisfied with the
publisher.
Arun is not satisfied with the publisher even though his book was published very
quickly.

Exercise 3

a.) Which phrases do you know?

Oblique infinitive + ‘OT ¥’
Oblique infinitive + postposition ‘@ EIEF ¥
Oblique imperfective participle + 7’

b.) Fill the gap by using all three phrases.

Sgd HETT T g uT i 7y IS Sgd @iGE ¥
agaué’m#@%%mm%ﬂa#ﬁgﬁ@ﬁg%
§gd W 7 gId gU I g HisH §gad WIGE & |

(In spite of not being very expensive this food is very delicious.)

c.) Rewrite the sentence by using a TITT-construction.

It I8 S §gd HgT JEl &, qgny / Tt sga @rieE 7

(Although this food is not very expensive even then it is very delicious.)
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Exercise 4

Rewrite the following sentences by using all three phrases of concession (‘in spite of)

2 gTSITp 98 Sgd T & forT Ot 3§ s o emvg =g
— Sgd ¥AT g1 UT Wt 3T SO 9T gHvS FET |
dgd UAl §14 @ dlasc 4 SO 4T gmUE FE T |
Sg ¥l g1 U M1 S ST Y uHUE AR

Transl.: In spite of being very rich, he is not at all proud.

b)) b.) AT Ig PUST WK g, UM THFTS g |

— HET g1 UT U7 g PUsT iea’S ¢ |
T 81 & Ja5G U8 PUeT et ¢
TET §1d gU M7 Ug PugT et ¢ |

Transl.: In spite of being cheap this cloth is of good quality.

c) g1 T ITT 9aW FT &, fore ot 3 BT foowe =gt armdr |
- I UQW @7 g17 ot it T &t B fosws =87 s
I UG BT g1 @ srasiq Uo b1 gt [ooems g1 ol |
I UG BT 10 gU T Ua T ST foogs @l omdr|

Transl.: In spite of being from Uttar Pradesh, Ravi doesn’t know any Hindi at all.

d.) gTe3Tiop gHN 3T=&T P f&Har ar it g SumeT & =gt Her |
— 37T B B UL 1Y g SATGT S gt fHer |
F=QT PH P P J@O9G gH SATGT I Tg1 HST |
3T=QT P HLd gu Ul g4 AT o gl {HeT |

Transl.: In spite of working properly/well we didn’t obtain much profit.

¢.) ETSITp T WP R AT 6T Y T =& T |
— YIS AT S O 9T gF TeT g1 Bt
— YT LT S P sdaga g7 el =gt 7o)
— YT A S gu U g&r gt g1 =T |

Transl.: In spite of running to the station I did not catch the train.
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Exercise 5

Give some of the most important verbs (apart from STIT1, GT, &) together with their
implication when used as second part of a “compound verb.”

ggAT literally "to fall/collapse” (intr.) —

JoAT literally "to arise/get up"” (intr.) —

NPT literally "to emerge" (intr.) —>

it implies a sense of suddenness but may suggest
that the action is moving or directed downward.

it suggests the inception of an action or feeling,

or indicate that the action is moving or directed
upwards

suggests that the action is done suddenly or in an
unexpected fashion

SBAT literally "to sit/to sit down" (intr.) —> it implies that an action was done foolishly,

stubbornly, with a lack of awareness, or against
better advice

ST3AT literally "to put, throw, place" (¢7.) — it indicates that an action is done violently,

with aggression or vehemence.

TEAT literally "to put/place/keep” (ir.) — The basic sense of ‘to keep, maintain’ can imply

Exercise 6

a firmness of action, or one whose results or
implications might last over time

Fill the gaps with the appropriate compound verb.

a.)dg TgT & SHIA UT g UgT|

He jumped from the train onto the ground.

b.) T T UTTSUA BT 33 &1 |

What madness you have gone and done!

c.) = J AUS T AV fosiy drg 3T
The child broke all of his (own) new toys.

d)aEat § ¥ T=gar AT Heor)

The moon (suddenly) emerged from behind the clouds.
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Exercise 7
Compound verb or simple verb? Make your decision!

2.) I Hifeal T S5 T™T|

He sat down on the stairs.

b.) BN WIS =g &)
I didn’t take food.

c¢) ¥ 3T @T o 7% el AT ueAT T 31T S0

I was afraid lest let my wife turn up.

d)ag g fom w8

He is writing a letter.

e)ag Tugt fow i

He began to write a letter.

£) “IT AT ?7-“Hig" AAT1”

“Who came?” — “Mohan came.”

g) “Ug S, JrETL HEHTT 3T 0 |”

“Just look, your guests have come.”
(your guests have come finally).
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